Decimals Within 1

a. 05+035=

1. Each individual square in the hundred squares below represents 1 hundredth.

Shade in the hundred squares to help you answer the calculations.

b. 0.43+0.27 =

c. 0.96+0.03 =

d. 0.58 +0.06 =
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Decimals Within 1

2. Write down the number that is represented by each of the place value charts.

a. !

Ones

Tenths

Hundredths

What number is represented?

What is 2 tenths less than this number?

Ones

Hundredths

What number is represented?

What is 1 hundredth more than this number?

Ones

Hundredths

What number is represented?

What is 0.32 less than this number?

Ones

Hundredths

What number is represented?

What is 0.15 more than this number?
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Decimals Within 1

3. Use known facts to work out the answer to each calculation.

Look at the examples below to help you.

Example:

0.56 + 0.22

We know that 56 + 22 = 78.

Therefore, 0.56 + 0.22 must equal 0.78.

Example:

0.74 -0.38

We know that 74 — 38 = 36.

Therefore, 0.74 — 0.38 must equal 0.36.

a. 034+0.16=

34+ 16=

b. 25 hundredths more than 23 hundredths =

c. 077-0.14=

d. 0.94 — 23 hundredths =

e. 0.09+084-=

f. 15 hundredths less than 0.64 =
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Decimals Within 1

1. Each individual square in the hundred squares below represents 1 hundredth.

Shade in the hundred squares to help you answer the calculations.

a. 05+035= (.85

b. 043+027=0.7

c. 096+003= (099 d. 058+0.06= (0 64
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Decimals Within 1

(Answers )

2. Write down the number that is represented by each of the place value charts.

a. Ones Tenths Hundredths

0@@ €9) @) 9)

b. Ones I Tenths Hundredths
0.01
What number is represented? 018 ........... U
What is 1 hundredth more than this number? O1q ..........
c. Ones ' Tenths Hundredths

00) 5 5

@) @) @)
@@@

What is 0.32 less than this number? 031 ___________

Ones Tenths Hundredths
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Decimals Within 1

Look at the examples below to help you.

3. Use known facts to work out the answer to each calculation.

Example:
0.56 + 0.22
We know that 56 + 22 = 78.

Therefore, 0.56 + 0.22 must equal 0.78.

Example:

0.74 -0.38

We know that 74 — 38 = 36.

Therefore, 0.74 — 0.38 must equal 0.36.

a. 034+0.16=005

¢. 077-014= (063

d. 0.94 - 23 hundredths = (). 7 ]

e. 009+084= (093

f. 15 hundredths less than 0.64 = 0.49

94 - 23 =71,50094-023=0.71

9+84=93 50009 +0.84=0793

64 — 15 =49 s0 0.64 - 0.15 = 0.49

34+16= 50, 50 0.34 + 0.16 = 0.5

b. 25 hundredths more than 23 hundredths = () 48

25 + 23 =48,500.25 +0.23 =0.48

77 —14=63,500.77 - 0.14 = 0.63
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